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N.B.: (1) Question No.l is compulsory.
(2) Attempt any three questions out of remaining five questions. @\
(3) Assume suitable data whenever required but justify the same. 7=
(4) Assumption made should be clearly stated. S

1. (a) Whatisan operating system? Explain the different functions of DS i 5
(b) What is a file directory? Describe methods of organizing dll‘LL,fﬂt‘lUHﬂﬂﬁ (X5, -5
5

(c) What are the characteristics of a Real Time OS? -.\:.}__

(d) What is system call? Explain any five system calls. P e 5
if o G
2. (a) Define the meaning of a race condition, use an execmiqﬂfﬁeﬁu@nﬁ: toillusirate 10
your answer. \
(b) Explain clearly how UNIX performs file mana;:emgyt 11:;71ng [-nodes. 10

3. (a) Suppose that a disk drive has 5000 cylmdu;,nun‘rﬁuud 0to 4999, The drive 10
is currently serving a request at cylinder 143, \and).hn. previous request was at
cylinder 125. The queue of pending ﬁqﬂ&s{s 1;_; FIFO order is 86, 1470,
913, 1774, 948, 1509, 1022, 1750, I}Q_g&nmt from the current head
position, what is the total dl‘iidﬂg@‘ in nylmders‘i that the disk arm moves to
satisfy all a pending requests ﬁn‘gau}: of the following disk scheduling

algorithms?
(i) FCFS (i) SSTF ﬁﬂl 5CAN iv) LOOK
(b) Explain the d1fﬂ,r{,nt al;locﬁﬂo\rﬂmethﬂu tor file. 10
4. (a) Consider the ﬂ{]]gmpﬁe‘ﬂ,hb 10
Process | ét;ﬂralwﬁmc_ Service Time
Y |
By LW ) B 4
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Sulye lhe”abovc ziven problem with shortest remaining time first by drawing
ﬁnt‘tﬁhﬁlt and also calculate the average waiting time, turn around time, and

thmughpm
{b} ,E;splﬁ!‘b RAID with different levels. 10
/
@) chp lain the working of EDF and RMA real time scheduling algorithms. 10
Tb‘) Describe process management in Linux. 10
: ';L \G ia) What 1s deadlock? Explain deadlock prevention and avoidance. 10

(b) What is Semaphore? Give an implementation of bounded buffer producer 10
consumer problem using semaphore.




